
ZL-1702 GLASS DOOR HINGE INSTALLATION INSTRUCTIONS
Thank you for using our product.
Before installation, please read this manual throughly to ensure correct installation.
Please keep this manual at hand for future reference.

ABOUT THE PRODUCT
●
● Load capacity: 490 N (50 kgf) / 2 pcs

DIMENSIONS

FOR YOUR SAFETY AND CORRECT INSTALLATION

ProhibitedWarning 
Caution Required

Meaning of symbols

Do not use this product for any other 

Use tempered glass.

is well-functioning and safe. Please inform the end user how to use the product safely.

year is recommended).

 Caution If not followed, injury or damage may result.

968 10
t 4

112
122

6

52
8

14
16

(2
8) 24 34

10

Back plate t3.2 or more

■Example of metal frame construction

ZL-1702

9610t4
4

■Example of wooden frame construction

Glass processing dimensions

D
oo

r h
ei

gh
t H

H
 ×

 0
.1

0 
- 

H
 ×

 0
.1

5

H
 ×

 0
.1

0 
- 

H
 ×

 0
.1

5

90
0 
- 

10
00

FL

Provide a groove on the door 
frame or use a door stopper.

G
la

ss
 th

ic
kn

es
s 

t8
, 1

0

Accessories
・ Wood screw 4.8×38                     … 5 pcs

・ Small flat head screws M5×D9、 L16… 5 pcs

・ Hex key 4 mm    　　　                … 1 pc.

・ Head cap 20 (with bushing)　　　… 1 pc.

34 48

2× 12 analog

Glass thickness t8, 10

1



INSTALLATION PROCEDURE

①

②

Cover

Base plate

Flat-blade 
screwdriver

Left-hand 
opening

Right-hand 
opening

Opening direction Opening direction

BracketHexagon socket 
countersunk head
screw M6×30

Hex key
4 mm

Hook the projection 
of the cover onto the 
dimple of the gasket 
and press the cover to 
engage.

Countersunk head screw 4.8×32
(For metal frame, Small flat head 
screws M5×D9, L16)

Gasket sticked

Projection

Dimple

①

②

Plate

Face the side with C chamfer 
to the hinge jamb.

To prevent scratching, 
put a soft cloth when 
assembling the head 
cap with a plastic 
hammer.

1 Removing the Cover

3 Mounting of the Bracket

5 Hanging the door

4 Mounting of the hinge

6 Assembling the Cover

2 Assembly of head cap

to match the hand of the 
door.

The figure shows the case of wooden frame mounting.

If you need to adjust the 
door position, loosen the 
M6×30 screws on the 
plate slightly.

the M6×30 screws firmly 
and check whether the 

closed smoothly.

SUGATSUNE KOGYO CO.,LTD　　
Tokyo, JAPAN
Phone: +81 (0)3 3866 2260　E-mail:export@sugatsune.co.jp
SUGATSUNE KOGYO (UK) LTD　　
Reading, UK
Phone: +44 118 9272 955   　E-mail:sales@sugatsune.co.uk
SUGATSUNE EUROPE GmbH　　
Dusseldorf, GERMANY
Phone: +49 211 53812900  　E-mail:sales@sugatsune.eu

SUGATSUNE SHANGHAI Co., LTD　　
Shanghai, CHINA
Phone: +86 21 3632 1858    　E-mail:lamp@sugatsune.com.cn
Guangzhou, CHINA　　
Phone: +86 20 6639 3552    　E-mail:lamp@sugatsune.com.cn

SUGATSUNE KOGYO INDIA PRIVATE LIMITED　　
Mumbai, INDIA
Phone: +91 22 28314490/91　E-mail:sales@sugatsune.in

SUGATSUNE AMERICA, INC　　
California, USA
Phone: +1 310 329 6373　E-mail:sales@sugatsune.com
Chicago, USA　　
Phone: +1 312 461 1081    E-mail:chicagoshowroom@sugatsune.com.

SUGATSUNE CANADA, INC.　　
Phone: +1 514 312 5267    E-mail:support@sugatsune.ca

2020.02　1400-1

2


